T

1/N,, dN, /d mean p_[GeV]"

Ratio to ATLAS

N
ol

N

=
a1

0.5

0.5

13000 GeV pp Z+Jet
—T T T I T T I T I T I T I T T I I T I T I —
- | | 15
B <pT> (ATLAS UE in Z production) 13
L 1=
| m ATLAS 1
| —4— Pythia 8.308 default N
N Pythia 8.308 tune-1 =
- Pythia 8.308 tune-2c — ;
— Pythia 8.308 tune-2m — §
B T
- o
™
- <t
(40)
— ©
o
L (49)
—i
n =
= X
S,
I <
| (&)
c
L (]
Q
- )
N S
./ )
__“ ! t T t | T T T T | T T T T 1 E
= \ 42
1
| —0.5
1 1 | " 1 1 1 1 | 1 1 1 1
1 2 3

Mean pT/dr] do



	Contents
	Page 1


